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UBND QUẬN LONG BIÊN

TRƯỜNG THCS ĐÔ THỊ VIỆT HƯNG

-------------

NỘI DUNG HƯỚNG DẪN HỌC SINH 

TỰ HỌC VÀ ÔN TẬP TẠI NHÀ

KHỐI 9
- Cha mẹ học sinh: Hàng ngày nhắc con học bài theo TKB và nội dung ôn tập

- Thầy cô giáo chủ nhiệm: gửi nội dung ôn tập, phối hợp với CMHS dể đôn đốc học sinh thực hiện nghiêm túc nề nếp học tập

- Thầy cô giáo bộ môn: hướng dẫn học sinh học tập theo TKB 

- Học sinh: chăm chỉ học bài và làm bài đầy đủ.

- Kính mong các thầy cô giáo, các bậc phụ huynh động viên, giúp đỡ để các con học sinh phát huy tinh thần tự học, giữ vững nề nếp, học tập hiệu quả. 

THÁNG  3  NĂM 2020

PHẦN 1: NỘI DUNG ÔN TẬP
MÔN  NGỮ VĂN

ĐỀ 1
Phần I: (4 điểm)

Cho đoạn văn:


[…]“Cái mạnh của con người Việt Nam ta là sự cần cù, sáng tạo. Điều đó thật hữu ích trong một nền kinh tế đòi hỏi tinh thần kỉ luật cao và thái độ nghiêm túc đối với công cụ và quy trình lao động với những máy móc, thiết bị rất tinh vi.” […]
(Chuẩn bị hành trang vào thế kỉ mới – Vũ Khoan.  Ngữ văn 9, tập hai)

1. Em hãy cho biết luận điểm chung của đoạn văn trên. Chỉ ra phép liên kết được sử dụng và nêu rõ tác dụng của phép liên kết ấy.

2. Trong vấn đề chuẩn bị hành trang vào thế kỉ mới, theo Vũ Khoan thì “sự chuẩn bị của bản thân con người là quan trọng nhất”. Em có đồng ý với ý kiến đó không? Vì sao

3. Từ văn bản trên và những hiểu biết thực tế, theo em thế hệ trẻ cần chuẩn bị những gì để vững bước vào thế kỉ mới. (Trình bày thành đoạn văn khoảng 2/3 trang giấy).

Phần II: (6 điểm)

Đọc đoạn trích sau:

“Họa sĩ nghĩ thầm: “Khách tới bất ngờ, chắc cu cậu chưa kịp quét tước dọn dẹp, chưa kịp gấp chăn chẳng hạn”. Ông rất ngạc nhiên khi bước lên bậc thang bằng đất, thấy người con trai đang hái hoa. Còn cô kĩ sư chỉ “ô” lên một tiếng! Sau gần hai ngày, qua ngót bốn trăm cây số đường dài cách xa Hà Nội, đứng trong mây mù ngang tầm với chiếc cầu vồng kia, bỗng nhiên lại gặp hoa dơn, hoa thược dược, vàng, tím, đỏ, hồng phấn, tổ ong… ngay lúc dưới kia là  mùa hè, đột ngột và mừng rỡ, quên mất e lệ, cô chạy đến bên người con trai đang cắt hoa. Anh con trai, rất tự nhiên như với một người bạn đã quen thân, trao bó hoa đã cắt cho người con gái, và cũng rất tự nhiên, cô đỡ lấy”.

(Lặng lẽ Sa Pa – Nguyễn Thành Long, SGK lớp 9 tập 1, trang 182)

1. Nêu hoàn cảnh ra đời của truyện ngắn "Lặng lẽ Sa Pa" và nhận xét về tình huống truyện. 

2. Phân tích cấu tạo ngữ pháp câu văn cuối của đoạn trích trên. Xét theo cấu tạo ngữ pháp, đó là kiểu câu gì?

3. Đoạn trích trên giúp em hiểu gì về nhân vật anh thanh niên?

4. Một bạn học sinh đã viết câu mở đầu đoạn văn như sau: "Truyện ngắn "Lặng lẽ Sa Pa" của Nguyễn Thành Long có những nhân vật không xuất hiện trực tiếp mà chỉ được giới thiệu gián tiếp qua lời kể của anh thanh niên, nhưng cũng góp phần thể hiện chủ đề tác phẩm."

Hãy viết khoảng 10 câu văn tiếp theo câu mở đầu ấy để tạo thành đoạn văn lập luận theo phương pháp Tổng – Phân – Hợp. Trong đoạn văn có sử dụng một câu phủ định và thành phần khởi ngữ . (gạch dưới câu phủ định và thành phần khởi ngữ)

ĐỀ 2
 PHẦN I (4 ĐIỂM)

Đọc đoạn trích sau và trả lời câu hỏi:

“ Lần này ta ra, thân hành cầm quân, phương lược tiến đánh đã có tính sẵn. Chẳng qua mươi ngày có thể đuổi được người Thanh. Nhưng nghĩ chúng là nước lớn gấp mười nước mình, sau khi thua một trận, ắt lấy làm thẹn mà lo mưa báo thù. Như thế thì việc binh đao không bao giờ dứt,  không phải là phúc cho dân, nỡ nào mà làm như vậy. Đến lúc ấy chỉ có người khéo lời lẽ mới dẹp nổi việc binh đao, không phải Ngô Thì Nhậm thì không ai làm được. Chờ mười năm nữa, cho ta yên ổn mà nuôi dưỡng lực lượng, bấy giờ nước giàu quân mạnh, thì ta có sợ gì chúng?”

(“Hoàng Lê nhất thống chí” – Ngô gia văn phái)

Câu 1(1 điểm). Đoạn văn trên là lời của ai? Nói trong hoàn cảnh nào? Nội dung của lời nói đó là gì?

Câu 2(1 điểm). Em hiểu gì về nhân vật có lời nói trong đoạn văn trên? 

Câu 3(2 điểm). Từ hình tượng Quang Trung- Nguyễn Huệ, cùng vốn hiểu biết của em, bằng một đoạn văn khoảng nửa trang giấy thi,  hãy trình  bày suy nghĩ của mình về  trách nhiệm của tuổi trẻ hôm nay đối với đất nước trong hoàn cảnh mới.

PHẦN II (6 ĐIỂM)

Hình ảnh vầng trăng với vẻ đẹp trong trẻo, thanh khiết vốn là nguồn cảm hứng làm mê đắm biết bao tâm hồn thi sĩ từ cổ chí kim. Có một nhà thơ đã từng tâm niệm:

                                “Vầng trăng thành tri kỷ”

Và sau đó cảm xúc trước trăng, nhà thơ đã viết rất chân thành:

“Ngửa mặt lên nhìn mặt

 có cái gì rưng rưng

 như là đồng là bể

như là sông là rừng

Trăng cứ tròn vành vạnh

kể chi người vô tình

ánh trăng im phăng phắc

đủ cho ta giật mình.”

Câu 1(1 điểm). Những câu thơ trên trích trong tác phẩm nào? Của ai? Ra đời trong hoàn cảnh nào? Hoàn cảnh ấy có tác động như thế nào tới điều tác giả muốn gửi  gắm trong bài thơ?

Câu 2 (1 điểm). Ở hai khổ thơ trên có hình ảnh nào lặp lại so với khổ đầu? Sự lặp lại đó có ý nghĩa gì?

Câu 3: (4 điểm). Dựa vào đoạn thơ trên hãy viết một đoạn văn khoảng 1

2 câu theo kiểu Tổng – Phân –Hợp làm rõ hình tượng vầng trăng. Trong đoạn văn có sử dụng câu ghép và thành phần phụ chú (gạch chân chỉ rõ)

MÔN TOÁN

ĐỀ 1

Bài I. (2,0 điểm) Cho biểu thức 
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Tính giá trị biểu thức A khi 
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Rút gọn biểu thức B.

Tìm m để phương trình 
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Bài II (2,0 điểm) Giải bài toán sau bằng cách lập phương trình hoặc hệ phương trình


Một mảnh vườn được chia thành nhiều luống, mỗi luống trồng số cây bắp cải như nhau. Nếu tăng thêm 7 luống nhưng mỗi luống trồng ít đi 2 cây thì số cây bắp cải toàn vườn giảm 9 cây. Còn nếu giảm đi 5 luống nhưng mỗi luống trồng tăng thêm 2 cây thì số cây bắp cải toàn vườn sẽ tăng thêm 15 cây. Hỏi mảnh vườn trồng tổng cộng bao nhiêu cây bắp cải?

Bài III (2,0 điểm) 

 Giải hệ phương trình 
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Cho đường thẳng 
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Lập phương trình 
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 đi qua A (1:2) và vuông góc với 
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Bài IV (3,5 điểm)
Cho nửa đường tròn (O) đường kính AB = 2R. Điểm C (khác A) bất kì nằm trên nửa đường tròn sao cho AC < CB. Điểm D thuộc cung nhỏ BC sao cho 
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. Gọi E là giao điểm của AD và BC, F là giao điểm của AC và BD.

Chứng minh: Bốn điểm C, E, D, F cùng nằm trên một đường tròn.

Chứng minh: FC.FA = FD.FB.

Gọi I là trung điểm của EF. Chứng minh: IC là tiếp tuyến của (O).

Khi C thay đổi thỏa mãn điều kiện bài toán, E thuộc đường tròn cố định nào?

Bài V (0,5 điểm)  Tìm 
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ĐỀ 2
Câu 1: (2,0 điểm) 
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 tính giá trị của biểu thức A.
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Tìm x để biểu thức [image: image18.wmf]MBA
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 nhận giá trị nguyên. 

Câu 2: (2,0 điểm) Giải bài toán bằng cách lập phương trình hoặc hệ phương trình


Một mảnh đất hình chữ nhật có độ dài đường chéo là 13 m. Chu vi của mảnh vườn hình chữ nhật là 34 m. Tính chiều dài và chiều rộng  của hình chữ nhật đó.  

Câu 3: (2,0 điểm) 

Giải hệ phương trình: 
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      2) Cho đường thẳng 
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 đi qua A (1:1) và song song với 
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Câu 4: (3,5 điểm) Cho đường tròn (O ;R), một đường thẳng d không đi qua O và cắt đường tròn tại hai điểm A và B. Từ một điểm C ở ngoài đường tròn ; C
[image: image24.wmf]Î

d và CB<CA ; kẻ hai tiếp tuyến CM và CN với đường tròn (M thuộc cung nhỏ AB). Gọi H là trung điểm của AB. Đường thẳng OH cắt tia CN tại K.

Chứng minh năm điểm M,H,O,N,C cùng thuộc một đường tròn.
Chứng minh KN.KC = KH.KO.
Đoạn thẳng CO cắt đường tròn (O) tại I. Chứng minh điểm I cách đều các đường thẳng CM,CN,MN.
Một đường thẳng đi qua O và song song với MN cắt CM và CN tại E và F. Xác định vị trí điểm C trên d sao cho diện tích tam giác CEF nhỏ nhất.
Câu 5: (0,5 điểm) Cho các số thực dương a, b thỏa mãn: 2a + b ≥ 2. Tìm giá trị nhỏ nhất của biểu thức: 
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------------------------------------ Hết ---------------------------------

ĐỀ CƯƠNG ÔN TẬP- MÔN TIẾNG ANH 9

Full name: _________________________________________________________

WEEK 21+22

I. Circle the word whose underlined part is pronounced differently from that of the others.

1. A. opened


B. closed

C. contained

D. finished
2. A. laughter  

B. sightseeing 

C. daughter

D. fight
3. A. island


B. foodstuff

C. stream

D. service
4. A. paper


B. receipt

C. complain

D. envelop
5. A. official


B. ocean

C. convenient 

D. precious

II. Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

1. A pattern
            
B. conserve

C. revise

 D. correct

2. A institute


B. distinctive

C. defensive

 D. division

III. Mark the letter A, B, C or D to indicate the underlined part that needs correct in each of the following questions.

1. We are having my house paint. That is why there is all this mess.


     A                             B                  C                       D

2. I think Helen is accustomed to work eight hours a day.

         A              B                            C                         D

3. After said goodbye to my parents, I went to school with my sister.

               A                  B                         C                      D

IV. Choose one word or phrase that best completes each sentence.
1.
There is
sugar in the jar.

A.
a little
B. a few
C. any
D. many

2.
My mother has
milk, not enough to feed my little brother.

A.
a lot of
B. little
C. any
D. many

3.
They have
rice, enough to cook a meal.

A.
a lot
B. little
C. many
D. a little

4.
I have
white shirts, not enough to wear during a week.

A.
few
B. a few
C. many
D. Little

5.
He has
comics, enough to read at weekend.

A.
much
B. Few
C. A few
D. A little

6.
There
information given about the course so I feel confused

A.
are too many
B. is too much
C. are too a lot
D. are too little

7.
The chef cooked
food for the party.

A.
many
B. Few
C. Much
D. a few

8.

the students she studies with are very helpful and friendly.

A. Some
B. Some of
C. A little of
D. A few

9.

the money was spent on clothes.

A.
Some
B. A few of
C. Many
D. None of

10.
We don’t like drinking
soft drink.

A.
many
B. some
C. much
D. a few

11.
There are
children playing in the playground.

A.
too many
B. too a little
C. too much
D. too little

12.
Do you make friends with
students in this class?

A.
much
B. a little
C. many
D. little

13.
Would you like to have
to drink?

A.
something
B. anything
C. everything
D. nothing

14.
My father couldn’t find his wallet

A.
somewhere
B. nowhere
C. everyplace
D. anywhere

15.
She enjoys this film
.

A.
so many
B. any much
C. so much
D. so some

16.
You must be hurry. The bus is coming so there is very
time left.

A.
much
B. Many
C. A lot of
D. Little

17.
Would you like to go out for a meal? We still have
time left

A.
much
B. a few
C. a few
D. Little

18.
There are two air-conditioners in
classroom.

A.
every
B. anything
C. Something
D. No

19.
I took care of
child very carefully.

A.
every
B. Some
C. Many
D. A lot of

20.

has his / her own room to sleep.

A.
Something
B. Everyone
C. Many people
D. Some people

V. Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
1. You don't need a computer. You can get by with the typewriter.

A. understand

B. manage with

C. buy

D. pass with

2. I fell into the water when I tried to get out of the canoe.

A. enter


B. start


C. climb

D. exit

VI. Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

1.  Look at the illustrations of different parts of a computer system.


A. together
B. similar
C. average
D. pure

2.  She was wearing a beautiful dress.


A. unsightly
B. dirty
C. dusty
D. bad

VII. Read the passage and choose the best answer for each question.
EATING A BALANCED DIET

Eating a balanced diet means choosing a wide variety of foods and drinks from all the food groups.Italsomeanseatingcertainthingsinmoderation,namelysaturatedfat,cholesterol,refinedsugar,and salt. The goal is to take in nutrients you need for health at the recommended levels. Your balanced diet must be planned at your own calorie level, and portion size is key. You can get the most nutrients by choosing foods with a high-nutrient density. Nutrient-dense foods provide substantial amounts of  vitamins and minerals and relatively few calories, such as fresh fruit and vegetables, lean meat and fish, and whole grains and beans.

Low-nutrient dense foods have few vitamins but lots of calories, such as candy bars, soda, donuts and onion rings. Necessary to the building, maintenance, and repair of body tissue like our skin, muscles, and internal organs, proteins are the major components of our immune system and hormones. When choosing proteinrich foods, pay attention to what else you are getting with that selection. Foods high in saturated fats will raise your blood cholesterol levels putting you at risk of heart diseases or strokes. Vegetable sources of protein, such as nuts, beans, and whole grains are great choices and offer vitamins, minerals and healthy fibers. The best protein choices are poultry and fish. For those who love red meat, you should stick with the leanest cuts, choose moderate portion sizes, and make it only an occasional part of your diet. Developing healthy eating habits is not as confusing or as restrictive as you may imagine. The first principle of a healthy diet is simply to eat a wide variety of foods. This is important because different foods make different nutritional contributions. Fruits, vegetables, grains, and legumes-foods  high in complex carbohydrates, fiber, vitamins, and minerals, low in fat and free of cholesterol-should make up the bulk of the calories you consume. The rest should come from low-fat dairy products, lean meat and poultry, and fish.

1.
A balanced diet is the one which is

A.
tasty
B. nutritious
C. healthy
D. both B and C

2.
Your balanced diet must be planned at your own calorie level, and portion size is key. Is this statement correct or incorrect?

A. correct
B. incorrect

3.
Fruits and vegetables are rich in

A.
carbohydrates
B. vitamins
C. both A and B
D. fats

4.
The best protein choices are

A.
fish
B. poultry
C. both A and B
D. grains

VIII. Rewrite the following sentences using the provided word and keep meaning as that of the root one.
1. He could not afford to buy the car.

      The car......................................................

2. "Why don't you put your luggage under the seat?" he asked me.

      He suggested.............................................

3. Although he had a good salary, he was unhappy in his job.

     In spite.......................................................

4. I advise you to put your money in the bank.

      You'd.........................................................

IX. Complete the second sentence so that it has a similar meaning to the first sentence, using the word in brackets.
1. If you are a student, you can always get special reduced prices. (Unless) 

-> ..................................................................................................................................

2. The weather is not fine. We won’t take photographs. (If) 

-> ..................................................................................................................................

3. She went to bed early. She was tired last night. (because) 

-> ..................................................................................................................................

4. She is an active girl. Everyone dislikes her. (though)

-> ..................................................................................................................................

WEEK 23+24

I. MULTIPLE CHOICE (8.0 points)

Mark the letter A, B, C or D to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions.

1. A. exchanges
B. admires
C. encourages
D. notices
2. A. champagne

B. character

C. aching

D. mechanic

3. A. ancient

B. replace

C. shame

D. abrupt

Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

4. A. minority

B. communicate

C. celebration

D. efficiency

5. A. design

B. equal

C. comfort
D. symbol

6. A. departure

B. festival

C. appliance

D. material

Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

7. Many foreign tourists enjoy festivals in Viet Nam__________they don’t understand Vietnamese very much.

    A. since

B. though

C. if

D. so

8. My favourite__________is fall because I love it to be cool.

    A. weather

B. season

C. climate

D. temperature

9. You need to keep milk cold. Put it in the__________.

    A. cupboard
B. basin
C. fridge
D. freezer
10. My brother is eleven. He is still a/an__________.

    A. child

B. teenager

C. adult

D. infant

11. On a clear night, the moon__________so brightly that you can see your shadow.

    A. shines

B. is

C. seems

D. pours

12. Tom __________a lot of presents on his birthday.

    A. gave

B. was giving

C. was given

D. was been given

13. You look terrific today! That color really__________!

    A. wears

B. matches

C. fits

D. suits

14. The__________of the experiments proved to be very informative.

    A. consequences

B. solutions

C. effects

D. results

15. Mr. Smiths has someone__________his car every Sunday.

    A. wash

B. to wash
C. washing

D. washed

16. Look! He__________from a large whisky-bottle.

    A. drinks

B. is drinking

C. will drink

D. drank

17. If you feel hot, you can__________ your jacket.

    A. put on

B. take off

C. throw away

D. get off

18. If I were a superman, I __________everywhere I like.

    A. flew

B. will fly

C. could fly

D. fly

19. The food was so hot__________.

    A. that it burned my tongue

    B. for it to burn my tongue

C. and then it burned my tongue

D. to have burned my tongue

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

20. His doctor advised him to stop to smoke.

        A

     B

    C
      D

21. At first life was difficult for me because of I didn’t understand English.

         A
     
   B


C

     D

22. The humming-birds is one of the most smallest birds we know of.

        A


      B

      C



D

23. She is singing and dancing merrily when the doctor called to see her.


  A



B

C

     D

24. When they lived in Jakarta, they used to eating Indonesian food.

        A

     B

        C

        D

Mark the letter A, B, C or D to indicate the most suitable response to complete each of the following exchanges.

25.  “Well done! That’s a very nice picture!” “_________”

     A. Thanks. It’s nice of you to say so.

B. Wow. What’s a nice compliment!

     C. Yes. I think so too.



D. Right. I’ve painted a nice picture.

26. “Must I finish my homework now?”   “_________”

     A. Yes, you may.

     B. Yes, you need.

C. No, you can’t.

D. No, you needn’t.

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

27. The graduation is sad, because the time we studied together has come to an end.

     A. succeeded

B. begun

C. finished

D. changed

28. Under the major’s able leadership, the soldiers found safety.

     A. guidance

B. intensity

C. flagship

D. ability

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

29. If you follow these simple rules, not only will you save money, but also the environment will be

      cleaner.

     A. earn

B. count

C. waste

D. replace

30. Animal communication is not a straightforward subject. It’s complicated because animals

     communicate differently with each other.

     A. impossible to express

     B. difficult to understand

C. easy to interpret

D. interesting to study

Read the following passage and mark the letter A, B, C or D to indicate the correct word that best fits each of the numbered blanks.

Interestingly, despite the fact that Chaplin came from Britain, he was much more popular in other countries than in his own mother country. The truth is that most English people (31)_________The Tramp a little crude. It was generally thought by them that he had too much of an eye for the ladies, and that his clothes gave him an appearance more (32)_________an Italian waiter than anything else. All in all the image was not gentleman-like according to many English people. However, the silent movies helped Chaplin to conceal his true nationality (33)_________American audiences. He put off making a talking movie until 1936 when he made up a nonsense (34)_________which sounded like no known nationality. He once said he thought of the Tramp as an educated man who had fallen on hard times. The truth is, however, that he was probably popular because he (35)_________as a character who revolted against the privileged classes.

31. A. considered 

B. treated 

C. agrreed 

D. approved

32. A. alike


B. like 

C. Liking 

D. unlike

33. A. to 


B. with

C. for


D. from

34. A. language 

B. Speech 

C. Talking 

D. sentence

35. A. saw 


B. was seeing 
C. was seen 

D. is seen

Read the following passage and mark the letter A, B, C or D to indicate the correct answer to each of the questions.


“Sesame Street” has been called “the longest street in the world”. That is because the television program can be seen in so many parts of the world.


That program became one of America’s exports soon after it was shown in New York in 1969.


In the United States more than six million children watch the program regularly. Although some people do not agree to some parts of the program, parents praise it highly.


Tests have shown that children have learned much from watching “Sesame Street”. The children who watch it five times a week learn more than those who watch it less. In the United States the program is shown at different hours during the week in order to increase the number of children who can watch it regularly.


The program uses songs, stories, jokes and pictures to give children a basic understanding of numbers, letters and human relationships.


Why has “Sesame Street” been so much more successful than other children’s shows? Many reasons have been suggested, such as the educational theories of its producers, the support from both the government and businessmen, and the full use of various kinds television skills. Perhaps another important reason is that mothers watch “Sesame Street” together with their children. This is partly because famous film stars often appear on “Sesame Street”. But the best reason for the success of the program may be that it makes every child watching it feel able to learn. The child finds himself learning, and he wants to learn more.

36. The “Sesame Street” has been called “the longest street in the world” becaue it is_________.

A. the longest street in the United States.

B. shown in many countries

C. the longest television program in the world.
D. watched regularly by six million children

37. The underlined word “praise” in the passage probably means________.

A. use to teach children



B. watch and study

C. produce and sell




D. approve and admire

38. In the United States many children can watch the program regularly because_________.

A. they needn’t go to school


B. it is shown many hours a day

C. it is shown in the evening


D. it is shown many times during the week

39. Which of the following are used in the program “Sesame Street”?

A. songs, stories, jokes and numbers

B. pictures, letters and relationships

C. songs, stories, jokes and pictures

D. numbers and human relationships

40. One of the important reasons for the success of the program is that________.

A. not only children but also their mothers like to watch it

B. many famous film stars enjoy watching it

C. it teaches educational theories




D. it is produced by the government

II. WRITING (2.0 points)

Finish the second sentence so that it has a similar meaning to the first one, beginning with the given words.

41. My written English is better than my spoken English.

=>I am ………………………………………………………………………………………………__

42. You won’t get into university without passing your exam.

=>Unless……………………………………………………………………………………………….

43. Because of his hard work, he made a success of his business.

=>He worked so……………………………………………………………………….…………….…

44. I found the film rather boring.

=>I was………………………………………………………………………………………......…….

45. The wind was cold this morning but we went for a walk.

=>Despite………………………………………………………………………………………………

Combine two sentences into a new one using the given words in brackets. Do not change the given words in any ways.

46. He went on holiday. I went on holiday. (both....and)

…………………………………………………………………………………………………………

47. Uncle Tom used to smoke. He seems to be in good health. (although)

…………………………………………………………………………………………………………

48. Working in a coal mine is a hard job. It can be dangerous. (and…..as well)

…………………………………………………………………………………………………………

49. Teachers don’t like it when you talk. They are trying to teach. (while)

…………………………………………………………………………………………………………

50. She stayed at home. She did not go to see him. (instead of)

…………………………………………………………………………………………………………

PHẦN 2: HƯỚNG DẪN LÀM BÀI
MÔN VĂN

HƯỚNG DẪN CHẤM ĐỀ 1
	Câu
	Đáp án, hướng dẫn
	Điểm

	Phần I: (4 điểm)

	Câu 1

(1đ)
	- Luận điểm chung: Điểm mạnh của con người Việt Nam.

- Phép liên kết: phép thế 

- Tác dụng: Tránh lặp lại các từ ngữ đã được sử dụng ở câu trước, làm cho đoạn văn ngắn gọn, mạch lạc.
	0.25đ

0.25đ

0,5đ

	Câu 2

(1đ)
	- HS nêu ý kiến: Đồng ý

- Vì: 

+ Từ cổ chí kim, con người luôn là động lực phát triển của lịch sử.

+ Trong thời kì nền kinh tế tri thức phát triển mạnh mẽ thì vai trò của con người lại càng nổi trội.


	0,25đ

0,25đ

0,5đ

	Câu 3

(2đ)
	Nắm được phương pháp viết đoạn văn nghị luận về vấn đề xã hội:

* Hình thức: Bố cục rõ ràng, đúng độ dài (khoảng 2/3 trang giấy thi), diễn đạt lưu loát, không mắc lỗi chính tả, dùng từ và diễn đạt.

* Nội dung: Đảm bảo các ý sau

- Giải thích: Hành trang được dùng với nghĩa là hành trang tinh thần như tri thức, kĩ năng, thói quen, … để đi vào một thời kì mới.

- Biểu hiện về sự chuẩn bị hành trang của thế hệ trẻ hiện nay: Về tri thức, phẩm chất đạo đức, sức khỏe…

- Ý nghĩa của sự chuẩn bị hành trang ở thế hệ trẻ.

- Phê phán những biểu hiện chưa tốt

- Liên hệ bản thân: Rèn luyện về đạo đức, sức khỏe để trở thành người công dân có ích cho gia đình và xã hội; những hành động việc làm để trở  thành con ngoan trò giỏi. 

* Lưu ý:

+ Khuyến khích các HS có suy nghĩ riêng nhưng phải lí giải hợp lí, thuyết phục. Không cho điểm những bài có suy nghĩ lệch lạc, tiêu cực.

+ Nếu đoạn quá dài hoặc quá ngắn thì trừ vào điểm nội dung.
	0.5đ

1.5đ



	Phần II: (6 điểm)

	Câu 1

(1đ)
	* Hoàn cảnh sáng tác: Năm 1970. Truyện là kết quả chuyến đi thực tế lên Lào Cai của nhà văn. 

* Tình huống truyện:

- Chỉ ra được tình huống truyện: Cuộc gặp gỡ giữa ông họa sĩ, cô kĩ sư, bác lái xe với anh thanh niên làm công tác khí tượng trên đỉnh Yên Sơn ở Sa Pa.

- Nhận xét về tình huống: 

+ Tình cờ, nhẹ nhàng

+ Hoàn cảnh thuận lợi để tác giả khắc họa chân dung anh thanh niên, nhân vật chính, một cách khách quan, chân thực không chỉ qua hành động, việc làm của anh mà còn qua những cảm xúc, suy nghĩ của các nhân vật khác. 


	0.25đ

0.75đ

	Câu 2

(0.75đ)
	- Phân tích đúng cấu tạo ngữ pháp

- Câu ghép
	0.5đ

0.25đ

	Câu 3

(0.75đ)
	* Dựa vào đoạn trích để nhận xét đánh giá về anh thanh niên:

- Cởi mở, thân thiện, hiếu khách;

- Nếp sống, phong cách sống đẹp -> Tinh thần lạc quan, yêu đời.

-> Lời văn thể hiện sự khâm phục, yêu quý, ngợi ca nhân vật.
	0.75đ

	Câu 4

(3.5đ)
	a. Hình thức:

- Đoạn văn, khoảng 10 câu

b. Nội dung: 

HS hoàn chỉnh đoạn văn lập luận theo cách Tổng – Phân – Hợp.

- Mở đoạn: Chép lại câu trong đề.

- Thân đoạn: Bám vào các dẫn chứng trong văn bản để phân tích, nhận xét, đánh giá về tình yêu công việc, tinh thần trách nhiệm của các nhân vật:

   + Ông kĩ sư vườn rau;

   + Đồng chí cán bộ nghiên cứu sét;

   + Anh làm công tác khí tượng trên đỉnh Phan-xi-păng.

   + Nhận xét về nghệ thuật tự sự

- Kết đoạn: Nêu chủ đề của tác phẩm: ca ngợi những con người lao động thầm lặng ở chốn Sa Pa, gợi nhắc ý nghĩa của công việc lao động thầm lặng (hoặc: Dưới những dinh thự của Sa Pa, nơi người ta chỉ nghĩ đến nghỉ ngơi, vẫn có những con người ngày đêm lo nghĩ cho đất nước).

# Đủ ý nhưng chưa sâu, nhớ sai chi tiết (trừ 0.5đ nội dung)

# Tỏ ra không nhớ rõ chi tiết, mắc vài lỗi diễn đạt (trừ 1đ nội dung)

# Chưa thể hiện hết ý, diễn đạt quá kém (trừ 1.5đ nội dung)

- Sử dụng được câu phủ định (đúng nội dung - hình thức, có gạch chân, chú thích)

- Sử dụng được thành phần khởi ngữ (đúng nội dung - hình thức, có gạch chân, chú thích)
	0.5đ

2đ

0.5đ

0.25đ

0.25đ

0.25đ

0,5đ

0.25đ

0.5đ

0.5đ




ĐÁP ÁN ĐỀ 2

	Phần
	                                            Đáp án
	Điểm

	Phần I. 

   4 đ                                                     
	Câu 1:
- Đoạn văn trên là lời của vua Quang Trung

- Nói trong hoàn cảnh: Quang Trung ra đến Tam Điệp, sau khi xử trí khéo léo với hai tướng Sở và Lân, ông khen ngợi Ngô Thì Nhậm.

- Nội dung của lời nói:

+ Quang Trung khẳng định đã có phương hướng chiến đấu với giặc và sẽ chắc chắn chiến thắng.

+ Ông tính sẵn kế hoạch ngoại giao sau khi chiến thắng với một nước lớn.
	0,25

0,25

0,25

0,25

	
	Câu 2:

- Hành động mạnh mẽ, quyết đoán.

- Trí tuệ sáng suốt và nhạy bén.

- Tầm nhìn xa trông rộng.

- Tài dụng binh như thần và là vị vua lẫm liệt trong chiến trận.
	0,25

0,25

0,25

0,25

	
	Câu 3:

* Yêu cầu hình thức:

- Đúng kiểu đoạn văn. 

* Yêu cầu nội dung: HS có thể nêu:

- Đất nước Việt Nam ta hiện nay đang đứng trước thời cơ và những thách thức to lớn: giao lưu quốc tế rộng mở tạo nhiều điều kiện để đất nước hội nhập nhanh chóng với thời đại công nghiệp hóa - hiện đại hóa đất nước. Nhưng hội nhập không bản lĩnh thì dễ dẫn đất nước đến chỗ bị hòa tan: văn hóa mất bản sắc dân tộc, kinh tế lệ thuộc, quốc phòng yếu kém dễ bị ngoại bang lấn lướt…

- Mỗi người hiện nay đều phải có ý thức rõ ràng về tình hình đất nước, với những thời cơ và thách thức để từ đó trong hoàn cảnh đất nước hòa bình, chấp hành luật pháp đầy đủ, tích cực học tập vươn lên chiếm lĩnh tri thức khoa học góp phần xây dựng sự nghiệp dân giàu, nước mạnh để phát triển đất nước. Còn khi đất nước có chiến tranh, sẵn sang hi sinh xương máu để chống ngoại xâm bảo vệ tổ quốc với một lòng yêu nước chân chính, sáng suốt, tỉnh táo và không bị chi phối bởi tư tưởng dân tộc cực đoan.

- Đối với tuổi học sinh, sẽ tích cực học tập và rèn luyện, tu dưỡng bản thân, chăm ngoan, nghe lời dạy bảo của cha mẹ, thầy cô để là con ngoan trò giỏi và sau nay trưởng thành sẽ thành người công dân tốt, có ích cho xã hội.


	0,5

0,5

0,5

0,5



	Phần II

6 đ
	Câu 1: 

Tên tác giả: Nguyễn Duy

Tác phẩm: “Ánh trăng”

Hoàn cảnh sáng tác: 1978, sau 3 năm đất nước thống nhất, tại TP Hồ Chí Minh.

Hoàn cảnh tác đông: Cuộc sống tiên nghi, đầy đủ khiến con người dễ quên đi những gian khổ(Lời nhắc nhở về lẽ sống ân nghĩa, thủy chung với quá khứ.
	0,25

0,25

0,25

0,25

	
	Câu 2:

Hình ảnh lặp lại: đồng, sông, bể, rừng

Ý nghĩa:

+ Tạo kết cấu đầu cuối tương ứng

+ Gợi lại những kỷ niệm quá khứ để nhân vật trữ tình bộc lộ cảm xúc
	0,5

0,25

0,25

	
	Câu 3:

* Yêu cầu hình thức:

- Đúng kiểu đoạn tổng – phân – hợp, đủ số câu

- Có dùng câu ghép (Gạch chân chỉ rõ)

- Có dùng thành phần phụ chú (Gạch chân chỉ rõ)

* Yêu cầu nội dung: HS biết khai thác tín hiệu nghệ thuật trong 8 câu thơ làm rõ hình tượng vầng trăng.

- Tư thế của vầng trăng.

- Biểu tượng cho thiên nhiên đất nước bình dị, hiền hậu.

- Biểu tượng cho quá khứ gian lao nghĩa tình, cho vẻ đẹp vĩnh hằng của đời sống.

- Là người bạn, nhân chứng nghĩa tình nhắc nhở con người lẽ sống.


	0,5

0,5

0,5

0,5

0,5

0,75

0,75


Lưu ý: - HS có cách diễn đạt khác mà đảm bảo đủ ý thì vẫn cho điểm.

            - Điểm toàn bài là tổng điểm thành phần, lẻ đến 0,25, không làm tròn số.
MÔN TOÁN
ĐÁP ÁN ĐỀ 1
	Bài
	Ý
	Hướng dẫn chấm
	Điểm

	1
	1
	Thay 
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	Tìm được 
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	Phương trình có nghiệm
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	0,25đ

	2
	
	Gọi số luống bắp cải ban đầu là x (x>5, 
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Gọi số cây bắp cải trồng mỗi luống ban đầu là y (y>2, 
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	0,25đ

	
	
	Lập luận ra phương trình 
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	0,5đ

	
	
	Lập luận ra phương trình 
[image: image37.wmf](x5)(y2)xy15

-+-=


	0,5đ

	
	
	Giải hệ phương trình 
[image: image38.wmf]xy(x7)(y2)950

(x5)(y2)xy1515

x

y

-+-==

ìì

Û

íí

-+-==

îî


	0,5đ

	
	
	Vậy tổng số cây bắp cải là 750 cây
	0,25đ

	3
	1
	ĐKXĐ: 
[image: image39.wmf]1

;1

2

xy

>¹-


	0,25đ

	
	
	Đặt 
[image: image40.wmf]11

,

1

21

ab

y

x

==

+

-

, ta có 
[image: image41.wmf]932

41

ab

ab

-=

ì

í

-=

î


	0,25đ

	
	
	Giải ra được 
[image: image42.wmf]1

3

ab

==


	0,25đ

	
	
	Tìm được 
[image: image43.wmf]5

2

x

y

=

ì

í

=

î

 và kết luận
	0,25đ

	
	2a
	Lập bảng giá trị
	0,25đ

	
	
	Vẽ đúng 
[image: image44.wmf]1

()

d


	0,25đ

	
	2b
	Tìm được hệ số góc của 
[image: image45.wmf]2

()

d

 là -1
	0,25đ

	
	
	Tìm ra 
[image: image46.wmf]2

():3

dyx

=-+


	0,25đ

	4
	1
	Vẽ hình đúng đến ý a
	0,25đ

	
	
	
[image: image47.wmf]·

·

·

·

00

9090

ACBADBFCEFDE

==Þ==


	0,25đ

	
	
	C, D thuộc đường tròn đường kính EF
	0,25đ

	
	
	Lập luận suy ra C, E, D, F cùng thuộc một đường tròn
	0,25đ

	
	2
	Xét 
[image: image48.wmf]FCB

D

và 
[image: image49.wmf]FDA

D

 có 
[image: image50.wmf]·

·

0

90

FCBFDA

==

 và 
[image: image51.wmf]·

CFB

 chung
	0,5đ

	
	
	
[image: image52.wmf]FCBFDA

ÞDD

:


	0,25đ

	
	
	
[image: image53.wmf]..

FCFB

FCFAFDFB

FDFA

Þ=Þ=


	0,25đ

	
	3
	
[image: image54.wmf]OCA

D

 cân tại I 
[image: image55.wmf]·

·

ICFIFC

Þ=





[image: image56.wmf]ICF

D

cân tại O 
[image: image57.wmf]·

·

OACOCA

Þ=


	0,5đ

	
	
	
[image: image58.wmf]·

·

·

·

0

90

ICFOCAIFCOAC

Þ+=+=


	0,25đ

	
	
	
[image: image59.wmf]·

0

90

ICOICOC

Þ=Þ^



 EMBED Equation.DSMT4  [image: image60.wmf]Þ

 IC là tiếp tuyến của (O)
	0,25đ

	
	4
	Gọi T là điểm chính giữa cung AB không chứa C (T cố định)

Chứng minh được IETO là hình bình hành
	0,25đ

	
	
	
[image: image61.wmf]2

TEOIR

Þ==



 EMBED Equation.DSMT4  [image: image62.wmf](T;R2)

E

ÞÎ


	0,25đ

	5
	
	
[image: image63.wmf]22

22

44484(xy1)

44484(xy1)

xxxy

yyxx

+³Û++³++

+³Û++³++


	0,25đ

	
	
	
[image: image64.wmf]2

16(xy1)

VT

Þ³++



[image: image65.wmf]2

16(xy1)

VP

£++

 (Bđt Côsi)


[image: image66.wmf]2

xy

Þ==


	0,25đ


Lưu ý: - Điểm toàn bài để lẻ đến 0,25.
- Các cách làm khác nếu đúng vẫn cho điểm tối đa.

- Bài IV: Thí sinh vẽ sai hình trong phạm vi câu nào thì không tính điểm câu đó.
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Lưu ý: - Điểm toàn bài để lẻ đến 0,25.
- Các cách làm khác nếu đúng vẫn cho điểm tối đa.


- Bài IV: Thí sinh vẽ sai hình trong phạm vi câu nào thì không tính điểm câu đó.
MÔN TIẾNG ANH 9

ANSWER KEYS
WEEK 21+22

I. Circle the word whose underlined part is pronounced differently from that of the others.

1. D 
2. A 
3. A 
4. B 
5. C
II. Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

1. D 
2. C

III. Mark the letter A, B, C or D to indicate the underlined part that needs correct in each of the following questions.

1. B 
2. C 
3. A

IV.
Choose one word or phrase that best completes each sentence.

l. A
2. B
3.D
4. A
5.C
6.B
7. C
8. B
9.D
10. C

11. A   12 .C 13.A
14. D   15. C   16. D   17. A   18.A  19.A
20. B

V. Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 

1.B 

2. D

VI. Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

1.B 

2.D 

VII. Read the passage and choose the best answer for each question.

1. D 
2. A 
3. C 
4. C

VIII. Rewrite the following sentences using the provided word and keep meaning as that of the root one.
1. The car was too expensive for him to buy.

(or) The car was so expensive that he couldn't afford / buy it.

2. He suggested that I should put my luggage under the seat.

3. In spite of his good salary, he was unhappy in his job.

4. You'd better put your money in the bank.

IX. Complete the second sentence so that it has a similar meaning to the first sentence, using the word in brackets.
1. Unless you are a student, you can’t get special reduced prices

2. If The weather were fine. We would take photographs. 

3. She went to bed early because she was tired last night. 

4. Though she is an active girl, everyone dislikes her. 

WEEK 23+24

I. MULTIPLE CHOICE (8.0 points)

Mark the letter A, B, C or D to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions.

1. A. exchanges
B. admires
C. encourages
D. notices
2. A. champagne
B. character

C. aching

D. mechanic

3. A. ancient

B. replace

C. shame

D. abrupt

Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

4. A. minority

B. communicate

C. celebration

D. efficiency

5. A. design
B. equal

C. comfort
D. symbol

6. A. departure

B. festival

C. appliance

D. material

Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

7. Many foreign tourists enjoy festivals in Viet Nam__________they don’t understand Vietnamese very much.

    A. since

B. though

C. if

D. so

8. My favourite__________is fall because I love it to be cool.

    A. weather

B. season

C. climate

D. temperature

9. You need to keep milk cold. Put it in the__________.

    A. cupboard
B. basin
C. fridge
D. freezer
10. My brother is eleven. He is still a/an__________.

    A. child

B. teenager

C. adult

D. infant

11. On a clear night, the moon__________so brightly that you can see your shadow.

    A. shines

B. is

C. seems

D. pours

12. Tom __________a lot of presents on his birthday.

    A. gave

B. was giving

C. was given

D. was been given

13. You look terrific today! That color really__________!

    A. wears

B. matches

C. fits

D. suits

14. The__________of the experiments proved to be very informative.

    A. consequences

B. solutions

C. effects

D. results

15. Mr. Smiths has someone__________his car every Sunday.

    A. wash

B. to wash
C. washing

D. washed

16. Look! He__________from a large whisky-bottle.

    A. drinks

B. is drinking

C. will drink

D. drank

17. If you feel hot, you can__________ your jacket.

    A. put on

B. take off

C. throw away

D. get off

18. If I were a superman, I __________everywhere I like.

    A. flew

B. will fly

C. could fly

D. fly

19. The food was so hot__________.

    A. that it burned my tongue

    B. for it to burn my tongue

C. and then it burned my tongue

D. to have burned my tongue

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.

20. His doctor advised him to stop to smoke.

        A

     B

    C
      D(smoking)
21. At first life was difficult for me because of I didn’t understand English.

         A
     
   B


C(because)

     D

22. The humming-birds is one of the most smallest birds we know of.

        A


      B

      C(the smallest)

D

23. She is singing and dancing merrily when the doctor called to see her.


  A(was)


B

C

     D

24. When they lived in Jakarta, they used to eating Indonesian food.

        A

     B

        C

        D(eat)
Mark the letter A, B, C or D to indicate the most suitable response to complete each of the following exchanges.

25.  “Well done! That’s a very nice picture!” “_________”

     A. Thanks. It’s nice of you to say so.

B. Wow. What’s a nice compliment!

     C. Yes. I think so too.



D. Right. I’ve painted a nice picture.

26. “Must I finish my homework now?”   “_________”

     A. Yes, you may.

     B. Yes, you need.

C. No, you can’t.

D. No, you needn’t.

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

27. The graduation is sad, because the time we studied together has come to an end.

     A. succeeded

B. begun

C. finished

D. changed

28. Under the major’s able leadership, the soldiers found safety.

     A. guidance

B. intensity

C. flagship

D. ability

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

29. If you follow these simple rules, not only will you save money, but also the environment will be

      cleaner.

     A. earn

B. count

C. waste

D. replace

30. Animal communication is not a straightforward subject. It’s complicated because animals

     communicate differently with each other.

     A. impossible to express

     B. difficult to understand

C. easy to interpret

D. interesting to study

Read the following passage and mark the letter A, B, C or D to indicate the correct word that best fits each of the numbered blanks.

Interestingly, despite the fact that Chaplin came from Britain, he was much more popular in other countries than in his own mother country. The truth is that most English people (31)_________The Tramp a little crude. It was generally thought by them that he had too much of an eye for the ladies, and that his clothes gave him an appearance more (32)_________an Italian waiter than anything else. All in all the image was not gentleman-like according to many English people. However, the silent movies helped Chaplin to conceal his true nationality (33)_________American audiences. He put off making a talking movie until 1936 when he made up a nonsense (34)_________which sounded like no known nationality. He once said he thought of the Tramp as an educated man who had fallen on hard times. The truth is, however, that he was probably popular because he (35)_________as a character who revolted against the privileged classes.

31. A. considered 

B. treated 

C. agrreed 

D. approved

32. A. alike


B. like 

C. Liking 

D. unlike

33. A. to 


B. with

C. for


D. from
34. A. language 

B. Speech 

C. Talking 

D. sentence

35. A. saw 


B. was seeing 
C. was seen 

D. is seen

Read the following passage and mark the letter A, B, C or D to indicate the correct answer to each of the questions.


“Sesame Street” has been called “the longest street in the world”. That is because the television program can be seen in so many parts of the world.


That program became one of America’s exports soon after it was shown in New York in 1969.


In the United States more than six million children watch the program regularly. Although some people do not agree to some parts of the program, parents praise it highly.


Tests have shown that children have learned much from watching “Sesame Street”. The children who watch it five times a week learn more than those who watch it less. In the United States the program is shown at different hours during the week in order to increase the number of children who can watch it regularly.


The program uses songs, stories, jokes and pictures to give children a basic understanding of numbers, letters and human relationships.


Why has “Sesame Street” been so much more successful than other children’s shows? Many reasons have been suggested, such as the educational theories of its producers, the support from both the government and businessmen, and the full use of various kinds television skills. Perhaps another important reason is that mothers watch “Sesame Street” together with their children. This is partly because famous film stars often appear on “Sesame Street”. But the best reason for the success of the program may be that it makes every child watching it feel able to learn. The child finds himself learning, and he wants to learn more.

36. The “Sesame Street” has been called “the longest street in the world” becaue it is_________.

A. the longest street in the United States.

B. shown in many countries

C. the longest television program in the world.
D. watched regularly by six million children
37. The underlined word “praise” in the passage probably means________.

A. use to teach children



B. watch and study

C. produce and sell




D. approve and admire
38. In the United States many children can watch the program regularly because_________.

A. they needn’t go to school


B. it is shown many hours a day
C. it is shown in the evening


D. it is shown many times during the week

39. Which of the following are used in the program “Sesame Street”?

A. songs, stories, jokes and numbers

B. pictures, letters and relationships

C. songs, stories, jokes and pictures

D. numbers and human relationships

40. One of the important reasons for the success of the program is that________.

A. not only children but also their mothers like to watch it

B. many famous film stars enjoy watching it

C. it teaches educational theories




D. it is produced by the government

II. WRITING (2.0 points)

Finish the second sentence so that it has a similar meaning to the first one, beginning with the given words.

41. My written English is better than my spoken English.

=>I am  better at writing English than speaking it.
42. You won’t get into university without passing your exam.

=>Unless you pass your exam, you won't get into university.
43. Because of his hard work, he made a success of his business.

=>He worked so hard that he made a success of his business.
44. I found the film rather boring.

=>I was rather bored with the film.
45. The wind was cold this morning but we went for a walk.

=>Despite the cold wind this morning, we went for a walk.
Combine two sentences into a new one using the given words in brackets. Do not change the given words in any ways.

46. He went on holiday. I went on holiday. (both....and)

=> Both he and I went on holiday.

47. Uncle Tom used to smoke. He seems to be in good health. (although)

=>Although Uncle Tom used to smoke, he seems to be in good health.

=>Uncle Tom seems to be in good health although he used to smoke. 

48. Working in a coal mine is a hard job. It can be dangerous. (and…..as well)

=>Working in a coal mine is a hard job, and it can be dangerous as well. 

49. Teachers don’t like it when you talk. They are trying to teach. (while)

=>Teachers don't like it when you talk while they are trying to teach. 

50. She stayed at home. She did not go to see him. (instead of)

=> She stayed at home instead of going to see him.

=>  Instead of going to see him, she stayed at home. 


